A. Design of Question Paper

DESIGN
SCIENCE & TECHNIOLOGY

CLASS-VIII

Section Type of Question No. of questions| Marks per question| Total Marks
(i) MCQ 16 1 16

A (ii) Assertion-Reason 4 1 4

B Short Answer I 6 2 12

C Short Answer II 7 3 21

D Long Answer 3 5 15

E Case Study 3 4 12

Total 39 80

B. Weightage

to Difficulty Level of Questions

S.No. Difficulty Level % of Marks Total Marks

1. Easy 25% 20

2. Average 60% 48

3. Difficult 15% 12
Total 100% 80

C. Weightage to Thinking Skill

Knowledge - 35% 28 Marks

Understanding - 40% 32 Marks

Application - 25% 20 Marks
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D. Sections

The question paper has 5 Sections : Section A, B, C, D and E. Section A has 20
questions, Section B has 6 questions, Section C has 7 questions, Section D has 3
questions and Section E has 3 questions.

E. Scheme of Options

Note : There will be no overall choice in the question paper, but there will be an
internal choice in 1 question of SA I type, 1 question of SA II type and 3 questions
of LA type. The Case Study questions contains 5 very short answer questions
(VSA) of 1 mark each, out of which only 4 are to be attempted.
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SAMPLE PAPER-I
CLASS-VIII (2024-25)

SCIENCE AND TECHNOLOGY

Time allowed : 3 hours Maximum Marks : 80

General Instructions:

1.

The question paper comprises five sections — A, B, C, D and E.
There are 39 questions in the question paper. All questions are
compulsory.

There will be no overall choice in the question paper, but there will
be an internal choice in 1 question of Section B, 1 question of
Section C and 3 questions of Section D. Each case study question
in Section E contains 5 very short answer questions (VSA) of 1 mark
each, out of which only 4 are to be attempted.

Section-A consists of 20 objective type questions (Q. No. 1 to 20),
carrying 1 mark each. These questions are MCQs and Assertion-
Reason questions.

Section-B consists of 6 very short questions (Q. No. 21-26), carrying
2 marks each.

Section-C consists of 7 short answer type questions (. No. 27-33)
carrying 3 marks each.

Section-D (question number 34-36) consists of 3 long answer type
questions carrying 5 marks each.

Section-E (question numbers 37-39) consists of 3 source-based /case-
based units of assessment of 4 marks each with sub-parts.

qrar FEsT

1.

997 TN & U9 @< 8-, @, U, § AN T F¥T 9% H 39 g &1 g4
gy AfFard &

997 94 § &I GHY [a%eq 78 &, dfhd @e-@ & | gvI, @e-T & |
gvd 3R @e-5 & 3 YA H ofaRer faeheq fear 7 & @e-v H g%
&g @Sl §57 H | HH & 5 @gd & oy g g97 (VSA) € fE g
Sae 4 H1 FIE fHar S 8l
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@e- (997 &7 1 § 20) § 20 a8 ¥ & T & E @ g
41 % & 3 3w MCQ 3R 3ifyweT &R g9 B

@e-@ (Y97 G& 21-26) § 6 7 &g 599 & (79 ° §ed% o 2 AP 8l
@S- (Y99 §&d 27-33) H 7 @Y ST YHR & §99 & fH ° Fedw
& 3 HF Bl

@e-9 (Y99 GE 34-36) H 3 I SOOI FHR & FvT & f4H @ g
& 5 HF Bl

Ge-T (Y9 G&A1 37-39) H IU-9Fl & Y 4 Sfhl & HoAIwd &I 3 Sd
SENRa /g -SHIRT 55 I 8l

Section-A (@S- )

(Select and write the most appropriate option out of the four options

given for each of the questions 1-20).
(99T 1-20 W ¥ Yeeh o fog feu T =) faeheul ® | 9ad Sugad fased
W oI W 3R few)

1.

Ananya is living in a densely populated hot and humid area, having

stagnant water bodies like ponds and puddles around her home. She

might suffer from : (1)
(a) Malaria and dengue (b) Malaria and Tuberculosis
(c) Dengue and Ringworm (d) Dengue and Mumps

I T ST ol TH SR ST & H W W §, el SHeh TN oh SMEu™
qieme 3R e o9 fer W fea € 98 3R difed @ Wehdl @

(a) TEfE iR S (b) oAl iR qufees
(© 27 ¥R TE (d) 27 R FHugHEr
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Analyze the data given below to give

lactobacillus is most active :

the temperature at which

(1)

Temperature in degree centigrade Beaker
at the time of mixing curd with milk
35 A
50 B
5-8 C
42 D

Beaker A and Beaker B
Beaker A and Beaker C

(b)
(d)

(a)
(c)

Beaker B and Beaker C
Beaker A and Beaker D

98 A9 ddM o foau e fTu e 2 w1 favewn R e W deee i

a9 sifys 9fea

3g ® I fhemd wwa e et
feit dehrs ®
35 A
50 B
5-8 C
42 D

(a) Beaker A and Beaker B
(b)
(c)

(d)

Beaker B and Beaker C
Beaker A and Beaker C
Beaker A and Beaker D
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Select the situation that does not work on the existence of atmospheric
pressure. (1)

(a) rise of iodine solution in the glass tube of dropper.
(b) rise of cold drink in a long plastic straw.
(¢c) sticking of suction hook on the wall of a room.

(d) rise of mercury in glass tube of thermometer.

3g feafd &1 w=@ X W agHedE qad % e W T w2
(a) SR H1 hid &I Jot § WEEH faa== &1 3
(b) wNfe® o @d B H Fics T =1 Fgl

() M I IR W FRE gh k1 foueh SN

(d) TqEET HT wIE HI A H IR R SN

In a large commercial complex, there are four ways to reach the main
road. One of the paths has loose soil, the second is laid with polished
marble, the third is laid with bricks and the fourth has a gravel surface.
It is raining heavily and Reena wishes to reach the main road. The path

on which she is least likely to slip is : (1)
(a) loose soil (b) polished marble
(c) tiles (d) gravel

Th o2 oo URE d gET Wed q% TEEd o uR U g1 Ul #
¥ o el faedt €, @ W Uifere WTRETR % @Y W@ T 7, @i
#1 e (Tiles) o T W@l 71 & X <Y H ook} &1 Hag 21 Wit auf
B W ® R O g gsw W uwge wEd 81 N TR W sHe fheer
H G G Y 7, 98 B

(a) <rait el (b) TIfeTsT HITHTR
(c) <EH (d) S
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The incorrect statement among the following is : (1)
(a) A matchstick can be lighted by striking its tip on a rough surface.
(b) Diesel is a combustible substance.

(¢) Glass has low ignition temperature.

(d) The substance which vaporize during burning gives flame.

fefafad o 9 o oA B—

(a) TIf@ & el #T Ak H1 vl TREd Tde W ARG Sl < e |

(b) SN TEH S g 7

(c) I *T SToH a9HE &9 2l el

(d) =& T S oM oh IWA adfihd Elal €, Sl <dl @l

A ray of light first goes from A to B and bends away from the normal, it
then goes from medium A to C and bends towards the normal. What can
you say about the optical densities of medium B and C ? (1)

(a) Optical density of B is more than C
(b) Optical density of C is more than B
(c) They both have equal densities

(d) The optical densities of the two mediums cannot be compared

g 1 fHR0T Tedd A ¥ B #1 3IR Wt T SR Afiers ¥ [ g I
gl R Weam AW C &Y 3R St © SR sifueia i iR 3o Sl 21 &7
e B @R C o ofifeshdd ¥t oh 9 § 1 F8 Thd &7

(a) B 1 siifeshal s C 9 Atk 21

(b) C &1 3ifehal ocad B 4 s =l

(¢ 37 Ml H T THA T
(d) I HAH o SAffehed W @i ol @l i S Hehdl|
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A ray of light travelling in water falls obliquely on the boundary of a
parallel sided glass block. The ray of light : (1)

(a) 1is refracted towards the normal.

(b) is refracted away from the normal.

(c) does not get refracted.

(d) is reflected along the same path.

It H AT A §E TR I U TR0 GHMIER Uk 9 % sl b
9 R S Tsdt @1 wewwr w1 -

(a) QE= F1 AR Sqgafdd BN B (b) WHEE W L IYafid et 2
(¢) mafdd &t e (d) SH gy | yfafafaq g6 2

Rohan’s grandfather was neither able to read the newspaper nor the

signboard on the road. The doctor suggested him to use spectacles for his
better vision. The type of lens/lenses must have been prescribed by the
doctor : (1)

(a) two concave lenses of different focal length

(b) two convex lenses of different focal length

(c) Concave in the upper part and convex in the lower part

(d) Convex in the upper part and concave in the lower part

e o TEET 7 d EER Ug UM ¥ SR 7 € HEge W o HEAdE|
Tl 4 3% dFR gfe o fau =wmr o 1 gee o d9/ad F YER
S el g fuifa feen s =nfew—

(a) fafq= ®ihel @@ o < e ©E

(b) fafq= wihel @aE o < STA ¥

(© ST 9 ® oEdd R e 9w o 9

(@) T 97 ¥ I9a R FrEe 9m ¥ stedd
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10.

11.

The velocities of sound waves in four media namely A, B, C and D are
1800 m/s, 900 m/s, 0 m/s and 1200 m/s respectively. Out of the four media,
the one that could be a liquid medium : (1)

(a) A (b) B (c) C (d) D

9F WAl A, B, C 3R D H e 9@l 1 97 1800 m/s, 900 m/s,

0 m/s 3R 1200 m/s & SFAY:| =R Hfgd § ¥ ®H O e TEEH 8 Gehdl
2

(a) A (b) B (c) C (d) D

The incorrect statement about synthetic fibers is : (1)
(a) They have high tensile strength.

(b) Unlike natural fibers they absorb sweat.

(c) They are not biodegradable.
(d) They are easy to clean.

fgofeer wER & I T TAd HH T
(a) ST S=4 @ Wi e 2l
(b) Wrehfaer Wi o foudld o w4 & efewnfod wid €
() d TEifelsad & 2|

(d) T WE FET AEE el

Wood pulp is used to prepare : (1)
(a) Polyester (b) Rayon
(¢) Acrylon (d) Nylon

frafafes o @ fFd R w0 & fag awEt w1 @ w1 SwEm R
SR

(a) TifeTTE (b) &N
(c) TfshalA (d) A=A
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12.

13.

The reproductive pattern in which parents release sperm and eggs into
the surrounding water for fertilization to occur is : (1)

(a) internal fertilization and external development

(b) internal fertilization and internal development

(c) external fertilization and external development

(d) external fertilization and internal development

a8 Yo Ued e wra-fyar foem o fow geem) @R S el eTHu
% It H Bied ©, o9 o

(a) oTdNe oM iR o faw@ (b)) ofdfes = oo siiafe faswm
(© & Fu=a R w @ fowm (d) o1 fem SR sl fam

Given below are events that lead to the formation of an egg in hen.
Arrange the given events in a proper sequence. (1)

(1) fertilization and formation of zygote.

(i1) sperms are passed from the male into the female body.

(ii1) development of embryo inside the egg followed by hatching of an egg.
(iv) formation of protective layer around zygote.

(a) (@v), (1), (1), (iii) (b) (1), Gv), (iii), (i1)

(e) (i), (), (iv), (iii) (d) (ii), (iv), (1), (ii)

F A el @ W © e wro gl | e w1 fmio gem @ v wewed
# 3feq wA H Fafem wi-

() FEIs 1 e iR fmfon

(i) P HI gEY G ufgem o YRR A YO HIAT @l 2l

(i) 32 o IR YU w1 fak@ R SWH A el Fel

(iv) IS oF IR IR GResh W 1 07

(a) (), (1), (i), (ii1) (b) (1), (iv), (iid), (i1)
(¢) (1), (@), (iv), (iii) (d) (ii), (v), (), (i1)
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14.

15.

16.

Amit and Aarna are blessed with a baby girl. The chromosome that

decided the sex of the baby, will be : (1)
(a) XX (b) YY
() XY (d) Autosomes

AHA IR SRA 4 Th o H W KA B oA W g w1 ferm @
HM, q8 BAM—

(a) XX b) YY
() XY (d) sty

Some children get acne and pimples on the face at the time of adolescence.

(a) Due to increased activity of sweat and sebaceous glands. (1)

(b) Due to increased activity of estrogen.
(¢) Due to increased activity of pancreatic gland.

(d) Due to increased activity of the pituitary gland.
FT ool ] FRINEET % §HE WEl W hia-Hed B Wi 2
(a) THA SR TgmE Ul w1 dedt wfafafy o wwo

(b) TESH 1 Ffehdal a1 o HNROI|

(c) ST UfY &1 Ffehadr &@d oh SR

(d) freged ufy w1 |fchaa dgd o &R

When electric current is passed through a liquid ‘P’, bulb glows. But
when the same current is passed through liquid ‘Q’, bulb does not glow.
Identify P and Q. (1)

(a) P-Distilled water; Q-Lime water (b) P-Lime juice; Q-Vinegar
(c) P-Vinegar; Q-Vegetable oil (d) P-Glycerine, Q-Distilled water
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w9 foggd yarE w1 WA P W TSR S ¢, q 9ed wHedl ¢l Afhd S|
IH U Sl g9 ‘Q W Yened TR Sl € A dow dw 7@l sl P 3R
Q ! eI

(a) P-3T{d Sd; Q-Aiq 1 @ (b) P-ig w1 W; Q-fawa

(¢c) P-fap1; Q-a7wfq d« (d) P-faedld; Q-3gad o

Note : For questions 17 to 20, two statements are given—one labeled Assertion
(A) and the other labeled Reason (R). Select the correct answer to these
questions from the codes (a), (b), (¢) and (d) as given below :

(a)
(b)
(c)
(d)

Both A and R are true and R is the correct explanation of Assertion.
Both A and R are true and R is not the correct explanation of Assertion.
A is true but R is false.

A is false but R is true.

@M g : T 17 ¥ 20 % faw § wem fRu T - Tt A @ (A) R W
¥ &R0 (R) WHA 21 & 9w & fau = fRu 7w FE (a), (), (©) 3R (d)
9 98 W -

(a)
(b)
(c)
(d)

17.

A IR RSA ¥ ?© R &Ru, fisked &1 ¥ =ren 2l
A IR RSA §F ® 3R &RU, fAsked %1 §& SO 7@l 2l

A 9 © dfed R Ted z

A Ted @ ofed R &9 7

Assertion (A) : Kabaddi players rub their hands with talcum powder for
having a better grip on their opponents.

Reason (R) : Talcum powder reduces the force of friction. (1)

ATTRTT (A) : FHoce! faae! A faufiel | dem 9oeg @A & fau
AW Bl H Soehd TSNS ¥ WEd

HROT (R) : dohH UR€eX UYU & ] HH FHE ol
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18.

19.

20.

21.

Assertion (A) : With the decrease in time period, frequency increases.

Reason (R) : Time period and frequency are directly related to each
other. (1)

afreRe (A) : wEF @y § HH oh WY, et sedl 2l
®HAOT (R) : S9a@Efy iR orgfa Tw-ge o g wefd €

Assertion (A) : Plastic bucket is non biodegradable.

Reason (R) : It does not decompose through natural processes and take
a very long time to degrade. (1)

JMTFRIT (A) : wIEF H1 deel R aEfeiead 2l

FHRUT (R) : € Wiehfae ieranali o wreqq 9 fosfea &t e € 2w fomfeq
e H Wgd ool "HE ol @l

Assertion (A) : When a bar magnet is kept stationary near a circular
metallic wire, current flows through it.

Reason (R) : Electric current is induced in a metallic wire due to the
change in the magnetic field near it. (1)

ATTRIT (A) : 59 TH B Jaoh Hhl Th JaHR o1 o dR o 98 FeR
W S 7, A SEH ¥ Yarfed el @)

HROT (R) : fFd o & aR & fihe & gawg &9 o ufadd & &R
Sgd faggd o® i@ e @

Section-B (@3-9@)
(Q. No. 21 to 26 are S.A. I Type questions)

Element A is soft, brittle and does not conduct electricity. Element B is
hard, malleable and ductile. Based on the information given above, answer
the following questions.

(a) Which of these two elements, A or B is a non-metal ?

(b) Name any one alloy of a non-metal. Also, write its composition. (2)
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22.

23.

e A TH, R ® R fasell %1 HeweW @ @i 1 q B woR,

JMEaEE SR aR @ie I 81 SR Y T THEEN oh SR W) FEfefEd

g3l o I ife—

(%) T A aell A9 BH ¥ &F W TH N€E B2

(@) fodr srag & M fhdt we fHsurg &1 AW dasul sHet @ o
fafam)

OR ( 37ar)
Differentiate between metals and non-metals on the basis of the following:
(a) Sonorosity (b) Melting point
frfafad o & omER W U Steig WS ward -
(%) FrRfEd (@) e
Give a reason to justify each of the following : (2)

(a) Ifthe clothes of a person catch fire, the person should be immediately
wrapped in a thick blanket.

(b) No one should be allowed to take any burning material within the
premises of a petrol station.

Afaed 34 &1 HRO FaqEd—

(%) G fret =ik o6 wHuel | M o S @ S§ =Afm l qid A
Fad § @ I @I

(@) U Y o uRER o et 1 off Serdt g8 Wil © WM sl et
RIS &Ml

Give reason for the following : (2)

(a) People living next to railway tracks, know well in advance about an
approaching train, even when it is out of sight.

(b) During rain, thundering sounds are always heard a little later than
the flash of lightning.

frefafed w1 R ST

(%) I9 3 oh UH E A Arll bl M ol °F o 9 H U 9
F R 5 3 o T - A R o B =l o = B e

(@) =fW & <NH, TSTSES w1 e U fasiell w =He w1 o
oot ) a9 g <@ R
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24.

25.

26.

Two threads A and B of same length are suspended from the clamp of an
iron stand in such a way that their one end hangs freely. A pan is
suspended at the free end of each threads. Now weights are added in both
the pans until the thread breaks. It is observed that thread A breaks
earlier than thread B. Based on the above information, answer the
following questions. (2)

(a) Which thread has greater tensile strength ?

(b) Write any one characteristic feature of the synthetic fibers other
than the one mentioned in the above question.

TAF e & I 9T A SR BHI @R % W ok RIU ¥ T W AHA
STt ® foR om 1 wh fou wdd ®9 W oewl Wl oUW o o R W
T U9 deH@ W gl o, UM % e dh 94 H oo Sl Wil @
Jg 3@ T fF 9T A ¥ B ¥ Ted 2@ Wl 2

ISWeK ATclihd o MR W f=fafed 9w o S <ifee—
(%) Torg um & a3 wfem sAfis 272

(@) ST T3 ° Sfeaifaa o sramen fadfes @R &1 &z T foaviwa
ferd|

The term metamorphosis is not used while describing human development.
Give reason. (2)

e I 1 9u W 999 P v 1 TAN el fRd S ?
SR )

Rohan’s father was advised by his doctor to inject insulin daily. Identify
the disease he is suffering from and give the cause of the disease. (2)

T o Ty &l 3eF SRR A UM YA &1 Io/RM oM &t T &1
off| o foq a4 difeqd € 9 v 3R z@er W9 %1 wRO s
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27.

28.

29.

Section-C (@8-TT)
(Q. No. 27 to 33 are S.A. II Type questions)

(a) What happens when sulphur dioxide is dissolved in water ?
(b) How can you check the nature of product formed in the above reaction?

(c) Write a balanced chemical equation for the reaction. (3)
(%) 9 Gewl SRS UMt o wiafwar wear © df @ g @2
(@) 29 ST gfafepa § oH ScIE 1 Yohfd 1 = ohd Y Fehd €7
() SR gidferan o faq T dqfaa q@EHe qHem fad)

Complete the information given below : 3)
The (a) of gold is expressed in terms of carat. The Carat
number gives the number of parts of gold present in (b) of a

mixture of gold with the other metals. Gold and platinum are called (c)
because they are not (d) affected by the

substances around them. Pure gold is (e) so it is often mixed
with (f) make it hard for making jewellery.

= R AEER g -

I # (a) H hZ o T W oFd TRl W Bl e WEAl
=1 orgetl & @ " (b) fagor & HiSg |9 % 9E 1 gen
TA T G SR wifeTH K (o) el W ® i 9 3T
FquE o w9 o(d) yofed & B € Ys |
() ¥l ® Hfeg 39 SMYWOl aMM @ fIU 39 HSR oM ok
fau e (& @iy faomn S R

In the game of badminton, friction can be a good friend as well as a
trouble maker. Give any three points to support your answer (at least one
point as a friend and one point as trouble maker). 3)

Sefifed & W § WU Uw IS S o WiU-9Y Us W Ug &
aren ot 8 "l B T S o @uedd ° g o fag dfew (w9
%0 T fag sl & w9 A R ww fag vy & w9 H)
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